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Question Number : 1 Question Id : 630680199703 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The basic principle which explains that the composition of the human body is just like that of the
composition of nature is:
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Options :
1. ¥ Parushasya Lokatulyatvam
2. % Karya-karana siddhanta
3. % Shad-dhatvatamaka purusha

4. # Samanya-vishesha siddhanta

Question Number : 2 Question Id : 630680199704 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to charaka shareera sthana, which of the following guna is common in panchamahabhoota?
Options :

1. # Sparsha

2. % Shabda

3. % Rupa

4. % Rasa

Question Number : 3 Question Id : 630680199705 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to charaka shareera, virtues like Prerana and Dhaarana belong to Mahabhoota.
Options :

1. # Akashiya

2. % Apya

3. # Taijasa

4. ¥ Vayaviya

Question Number : 4 Question Id : 630680199706 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Complete the following shloka.
“Sarvadasarvabhavanamsamanyam ”, according to Acharya Charaka.

Options :

1. ¥ Vridhikaranam
2. % Kshaya Karanam
3. % Ekatvakaram

4. % Pruthakatvam

Question Number : 5 Question Id : 630680199707 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Vagbhata, Pakwashaya is the visheshasthana of:
Options :
1. ¥ Vaata
2. % Pitta
3. % Kapha
4. % Rakta

Question Number : 6 Question Id : 630680199708 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, Nabhi is the visheshasthana of:
Options :

1. # Vaata

2. ¥ Pitta

3. % Kapha

4. % Rakta

Question Number : 7 Question Id : 630680199709 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, Nishwasa and Annapravesha are Karma of:
Options :

1. ¥ Prana Vayu

2. % Udana Vayu

3. % Vyana Vayu

4. % Samana Vayu

Question Number : 8 Question Id : 630680199710 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, twacha is the sthana of which type of pitta?
Options :

1. # Sadhaka

2. ¥ Ranjaka

3. # Bhrajaka

4. % Alochaka

Question Number : 9 Question Id : 630680199711 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Vagbhata, the sthana of Sadhaka Pitta is:
Options :
1. ¥ Hrudaya
2. % Drik
3. ¥ Twacha
4. % Amashaya

Question Number : 10 Question Id : 630680199712 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to acharya Ashtanga Hridaya, Amashaya is the sthana of which type of kapha?
Options :

1. ¥ Kledaka Kapha

2. % Avalambaka Kapha

3. % Bodhaka Kapha

4. % Tarpaka Kapaha

Question Number : 11 Question Id : 630680199713 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT the sthana of Kapha?
Options :

1. # Jihva

2. % Ghrana

3. % Kloma

4. ¥ Twacha

Question Number : 12 Question Id : 630680199714 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, UshnaKamitva is the lakshana of:
Options :

1. # Vaata Kshaya

2. % Vaata Vridhi

3. % Pitta Kshaya

4. % Kapha Kshaya

Question Number : 13 Question Id : 630680199715 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, which of the following is the lakshana of pitta vruddhi?
Options :

1. # Bhrama

2. # Prabha hani

3. ¥ Alpa Nidrata

4. % Kampa

Question Number : 14 Question Id : 630680199716 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, Slatha Sandhi is lakshana of:
Options :

1. # Vaata Vridhi

2. % Kapha Vridhi

3. # Vaata Kshaya

4. ¥ Kapha Kshaya

Question Number : 15 Question Id : 630680199717 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, which of the following is NOT the guna of Vaata?
Options :

1. # Laghu

2. % Khara

3. ¥ Yogavahi

4. % Sheeta

Question Number : 16 Question Id : 630680199718 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, Smriti and Urja are the karma of which type of vata?
Options :

1. * Prana Vayu

2. % Udana Vayu

3. % Vyana Vayu

4. % Samana Vayu
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Question Number : 17 Question Id : 630680199719 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, Pachana and Vibhajana are the karma of:
Options :

1. ¥ Samana Vayu

2. % Pachaka Pitta

3. # Vyana Vayu

4. % Kledaka Kapha

Question Number : 18 Question Id : 630680199720 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, which of the following is NOT a samanya lakshana of Kapha dosha?
Options :

1. ®* Sandhi Bandhana

2. # Sthiratva

3. % Purana

4, % Kshamadi

Question Number : 19 Question Id : 630680199721 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, satata sandhi shabda is the lakshana of which prakriti purusha?
Options :

1. ¥ Vaata Prakriti

2. % Pitta Prakriti

3. ® Kapha Prakriti

4. % Sama Prakriti

Question Number : 20 Question Id : 630680199722 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Klesha asahishnu is the quality of:
Options :

1. * Vaata Prakriti

2. ¥ Pitta Prakriti

3. ® Kapha Prakriti

4. % Sama Prakriti
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Question Number : 21 Question Id : 630680199723 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, which of the following is NOT a quality of Kapha Prakriti?
Options :

1. * Sheeta

2. % Madhurya

3. ® Gurutva

4. ¥ Shigratvat

Question Number : 22 Question Id : 630680199724 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, the number of satvika, rajasika and tamasika prakriti, respectively, are:
Options :

1. % 7,3and 6

2.% 7 6and 3

3.% 6,3and 7

4. % 3 6and 7

Question Number : 23 Question Id : 630680199725 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Smritimantha is the quality of:
Options :

1. # Brahma Satva

2. % Kaubera Satva

3. ® Varuna Satva

4. ¥ Yamya Satva

Question Number : 24 Question Id : 630680199726 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, AharaParinamaka Bhavas are:
Options :

1. % 4

2.%5

3.6
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4, % 7

Question Number : 25 Question Id : 630680199727 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, among the Aahara Vidhi, Visheshayatan, Sarvagraha and Parigraha are types
of:

Options :

1. ¥ Karana
2. % Desha

3. ¥ Rashi

4. % Upayokta

Question Number : 26 Question Id : 630680199728 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, which type of pitta is involved in ahara pachana?
Options :

1. ¥ Ranjaka and Pachaka Pitta

2. % Pachaka Pitta

3. * Sadhaka Pitta

4. % Bhrajaka Pitta

Question Number : 27 Question Id : 630680199729 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Three Avastha Paka (Madhura, Amla and Katu) are explained by:
Options :

1. ¥ Acharya Charaka

2. % Acharya Sushruta

3. % Acharya Vagbhata

4. % Acharya Bhela

Question Number : 28 Question Id : 630680199730 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Sushruta, which of the following is NOT a function of Ahara Rasa?
Options :

1. # Tarpana
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2. # Vardhana
3. % Dharana
4. ¥ Poshana

Question Number : 29 Question Id : 630680199731 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, there are types of Agni.
Options :

1. % 10

2.% 13

3. % 15

4. % 17

Question Number : 30 Question Id : 630680199732 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Ahara shakti is assessed on the basis of:
Options :

1. #* Prakruti Pareeksha

2. % Koshta Pareeksha

3. ¥ Abhyavarana and Jarana Shakti

4. % Vyayama Shakti

Question Number : 31 Question Id : 630680199733 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to which Acharya are guna of Agni and Pachaka Pitta similar?
Options :

1. # Acharya Charaka

2. % Acharya Sushruta

3. % Acharya Vagbhata

4. % Acharya Bhel

Question Number : 32 Question Id : 630680199734 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Vagbhata, Aahara rasa is converted into sapta dhatu by the action of which agni?
Options :
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1. # Dhatvagni
2. % Jatharagni
3. ¥ Kayagni and Dhatvagni
4. % Bhutagni

Question Number : 33 Question Id : 630680199735 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The function of Golgi apparatus is:

Options :

1. ¥ processing, packaging, labelling and delivery of proteins and lipids
2. # secretion of perforin, granzymes, melanin and serotonin

3. % gsynthesis of lipids and steroids

4. % acceleration of gluconeogenesis

Question Number : 34 Question Id : 630680199736 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The lysosomal enzyme that hydrolyses the polysaccharides into glucose is:
Options :

1. # proteases

2. ¥ amylases

3. * nucleases

4. % lipases

Question Number : 35 Question Id : 630680199737 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a function of peroxisomes?
Options :

1. # Breakdown of excess fatty acids

2. % Acceleration of gluconeogenesis

3. #* Role in the formation of bile acids

4. ¥ Degradation of worn-out organelles

Question Number : 36 Question Id : 630680199738 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following organic (nitrogenous) bases is NOT found in DNA?
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Options :
1. # Adenine
2. # Guanine
3. % Uracil
4. # Cytosine

Question Number : 37 Question Id : 630680199739 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Vagbhata, which of the following is NOT the lakshana of Rasa Kshaya?
Options :

1. % Ruksha

2. # Glani

3. # Shosha

4. % Trushna

Question Number : 38 Question Id : 630680199740 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The IndragopaPratikasha is the appearance of Rakta, according to which Acharya?
Options :

1. ¥ Acharya Sushruta

2. # Acharya Charaka

3. % Acharya Vagbhata

4. % Acharya Kashyapa

Question Number : 39 Question Id : 630680199741 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Ashtanga Hridaya, Lepana is the samanya karya of which the following dhatu?
Options :

1. % Rasa

2. % Rakta

3. ¥ Mamsa

4. % Meda

Question Number : 40 Question Id : 630680199742 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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According to Acharya Vagbhata, Sandhi vedhana is the lakshana of:
Options :
1. ¥ MamsaKshaya
2. ¥ MamsaVridhi
3. ¥ MedaKshaya
4. % MedaVridhi

Question Number : 41 Question Id : 630680199743 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Vrikk and Kati are the moola sthana of Meda, according to which Acharya?
Options :

1. # Acharya Charaka

2. % Acharya Sushruta

3. % Acharya Vagbhata

4. % Acharya Bhela

Question Number : 42 Question Id : 630680199744 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, the Khamala is the mala of which of the following dhatu?
Options :

1. ¥ Mamsa

2. % Meda

3. % Asthi

4. % Majja

Question Number : 43 Question Id : 630680199745 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Anjali Pramana of Majja is:
Options :

1.9 1

2.%2

3.%3

4, % 4

Question Number : 44 Question Id : 630680199746 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Sushruta, Karya of Asthi Dhatu is:
Options :
1. # Decha Dharana
2. % Majja Pushti
3. ¥ Deha dharana and Majja Pushti

4. % Pyrana

Question Number : 45 Question Id : 630680199747 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, Alpa Shukrata is the lakshana of:
Options :

1. * ShukraKshaya

2. ¥ MajjaKshaya

3. % MamsaKshaya

4. % MedaKshaya

Question Number : 46 Question Id : 630680199748 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Sanyu is Upadhatu of:
Options :

1. ¥ Mamsa

2. ¥ Meda

3. % Rasa

4. % Rakta

Question Number : 47 Question Id : 630680199749 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, which of the following is NOT the Ksheena lakshana of Shukra?
Options :

1. * Dourbalyam

2. % Shrama

3. % Panduta

4. ¥ Alparaktashukradarshana

Question Number : 48 Question Id : 630680199750 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Charaka, Twacha is Upadhatu of:
Options :
1. % Rasa
2. % Rakta
3. % Meda
4. ¥ Mamsa

Question Number : 49 Question Id : 630680199751 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, which of the following is NOT the guna of Oja?
Options :

1. # Guru

2. % Shukla

3. % Sthira

4. % Mrudu

Question Number : 50 Question Id : 630680199752 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, which of the following is NOT the OjaVyapatlakshana?
Options :

1. # Glani

2. % Varna Bheda

3. # Tandra

4. % Sandhi Vishleshana

Question Number : 51 Question Id : 630680199753 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Charaka, Gandha of Oja is:
Options :

1. % Ghrita

2. ¥ Laja

3. % Madhu

4. % Dugdha

Question Number : 52 Question Id : 630680199754 Is Question Mandatory : No Calculator : None

14/41



4/3/23, 12:22 PM

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, the total number of days taken for the formation of Sapta Dhatu is:
Options :

1. % 15

2. %20

3. % 25

4. % 30

Question Number : 53 Question Id : 630680199755 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Sushruta Sutra, SparshaVaigunya is the lakshana of:
Options :

1. ¥ Sweda Kshaya

2. # Sweda Virdhi

3. # Rasa Kshaya

4. % Rasa Virdhi

Question Number : 54 Question Id : 630680199756 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following lakshana is present in both Mutra Vriddhi and Mutra Kshaya?
Options :

1. # Adhmana

2. % Basti Toda

3. % Alpa Mutra

4. % Muhurmuhu Mutra

Question Number : 55 Question Id : 630680199757 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
HrudayaParshwaPida is the lakshana of:
Options :

1. # Puridsha Vridhi

2. % Purisha Kshaya

3. % Mutra Vridhi

4. % Mutra Kshaya
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Question Number : 56 Question Id : 630680199758 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The Mahabhoota predominant in Rasendriya is:
Options :

1. ®¥ Akash

2. % Agni

3. % Vayu

4. % Jala

Question Number : 57 Question Id : 630680199759 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Shabda, Sparsha, Rupa, Rasa and Gandha are categorised under:
Options :

1. # PanchendriyaDravya

2. % PanchendriyaArtha

3. ¥ PanchendriyaAdhisthana

4. % PanchendriyaBudhi

Question Number : 58 Question Id : 630680199760 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The Adhisthana of Sparshendriya is:
Options :

1. # Chakshu

2. ¥ Twak

3. ¥ Nasika

4. % Jihva

Question Number : 59 Question Id : 630680199761 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

When Atma along with Indirya, Mana and Artha gets connected, that leads to generation of knowledge in the
form of:

Options :

1. ¥ Pratyaksha
2. % Anumana

3. % Upamana

4. * Shadba
16/41



4/3/23, 12:22 PM

Question Number : 60 Question Id : 630680199762 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The Chintya, Uhya, Dhyeya and Sankalp are:
Options :

1. # Mana Guna

2. % Mana Vishaya

3. % Mana Karma

4. % Mana lakshana

Question Number : 61 Question Id : 630680199763 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Trayopsthambha includes:

Options :

1. * Vaata, Pitta and Kapha

2. % Dosha, Dhatu and Mala

3. ¥ Ahara, Nidra and Brahmacharya

4. % Sharira, Atma and Satva

Question Number : 62 Question Id : 630680199764 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a type of Nidra according to Acharya Charaka?
Options :

1. # Tamobhava

2. ¥ Tamsi

3. % Agantuki

4. % Vyadhianuvartini

Question Number : 63 Question Id : 630680199765 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Normal haemoglobin count at birth is:
Options :

1. * 15 gm/dl

2. % 17 gm/dl

3. % 20 gm/dl
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4. % 25 gm/dl

Question Number : 64 Question Id : 630680199766 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
In adult haemoglobin, the globulin contains:
Options :

1. ¥ two a-chains and two B-chains

2. # one o-chain and two B-chains

3. # two a-chains and two y-chains

4. % one o- chain and two y-chains

Question Number : 65 Question Id : 630680199767 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Eosinopenia (decrease in eosinophil count) occurs in which of the following conditions?
Options :

1. # Hodgkin’s disease

2. % Cushing’s syndrome

3. % Urticaria

4. * Tuberculosis

Question Number : 66 Question Id : 630680199768 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Macrocytic and hypochromic cells are present in which of the following conditions?
Options :

1. # Megaloblastic anaemia

2. % Pernicious anaemia

3. # Iron-deficiency anaemia

4. * Sickle cell anaemia

Question Number : 67 Question Id : 630680199769 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Active artificial immunity is effective in Cholera for a period of:
Options :

1. * 3 months

2. % 6 months
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3. ¥ 9 months
4. % 1 year

Question Number : 68 Question Id : 630680199770 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The action of interleukins is:

Options :

1. # production of vascular effects

2. # promotion of phagocytosis by monocytes and macrophages
3. % attraction of WBCs by chemotaxis

4. ¥ acceleration of inflammatory response by activating eosinophils

Question Number : 69 Question Id : 630680199771 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The role of TH1 (Helper-1) cells is:

Options :

1. # activation of B cells

2. % proliferation of plasma cells

3. ¢ stimulation of the phagocytic activity of the cytotoxic cells, macrophages and natural killer (NK) cells

4. % production of antibodies by plasma cells

Question Number : 70 Question Id : 630680199772 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is the function of IgD antibody?

Options :

1. ¥ Recognition of the antigen by B lymphocytes

2. % Involved in allergic reactions

3. # Plays a role in localised defence mechanism in external secretions like tear

4. % Responsible for complement fixation

Question Number : 71 Question Id : 630680199773 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Antibodies directly inactivate the invading organism by all of the following methods, EXCEPT:
Options :

1. # agglutination
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2. ¥ opsonisation
3. * neutralisation

4. % precipitation

Question Number : 72 Question Id : 630680199774 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In the conductive system, the velocity of the impulse of AV node is:
Options :

1. # 0.5 m/sec

2. % 0.3 m/sec

3. % 0.1 m/sec

4.+ 0.05 m/sec

Question Number : 73 Question Id : 630680199775 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The time duration of isometric relaxation in ventricular diastole is:
Options :

1. # 0.04 sec

2. % 0.05 sec

3.9 0.08 sec

4. % 0.11 sec

Question Number : 74 Question Id : 630680199776 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The third heart sound occurs during:

Options :

1. # the isometric contraction period and part of the ejection period
2. # protodiastole and part of the isometric relaxation

3. ¥ the rapid filling phase

4. % the atrial systole

Question Number : 75 Question Id : 630680199777 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is the cause of a diastolic murmur?
Options :
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1. # Incompetence of atrioventricular valves
2. % Stenosis of semilunar valves
3. ®# Patent ductus arteriosus

4. % Stenosis of atrioventricular valves

Question Number : 76 Question Id : 630680199778 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The changes in ECG due to the effect of hypercalcaemia is:
Options :

1. # prolongation of Q-T interval

2. ¥ shortening of duration of S-T segment

3. % prolongation of P-R interval

4. % depression of S-T segment below the isoelectric baseline

Question Number : 77 Question Id : 630680199779 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The hormone dopamine is secreted by:
Options :

1. # the adrenal cortex

2. ¥ the adrenal medulla

3. % the anterior pituitary

4. % the posterior pituitary

Question Number : 78 Question Id : 630680199780 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Chromophil cells are present in:

Options :

1. ¥ the anterior pituitary

2. # the posterior pituitary

3. % the thyroid

4. # the islets of Langerhans

Question Number : 79 Question Id : 630680199781 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Cretinism is caused by:
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Options :
1. # hypersecretion of thyroxine
2. ¥ hyposecretion of thyroxine
3. # hypersecretion of growth hormone

4. # hyposecretion of growth hormone

Question Number : 80 Question Id : 630680199782 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The half-life of insulin is:

Options :

1. # 2 minutes

2. % 5 minutes

3. # 7 minutes

4. % 10 minutes

Question Number : 81 Question Id : 630680199783 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The parafollicular cells or clear cells (C cells) situated among the follicles of the thyroid secrete:
Options :

1. # T3 hormone

2. # T4 hormone

3. % parathormone

4. % calcitonin

Question Number : 82 Question Id : 630680199784 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is the outermost layer of the skin?
Options :

1. % Stratum germinativum

2. % Stratum corneum

3. % Stratum spinosum

4. ®# Stratum lucidum

Question Number : 83 Question Id : 630680199785 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

22/41



4/3/23, 12:22 PM
Melanocytes are present in which of the following layers of the skin?
Options :
1. # Stratum corneum
2. % Stratum granulosum
3. ¥ Stratum germinativum

4. % Stratum spinosum

Question Number : 84 Question Id : 630680199786 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Sebum is secreted by:

Options :

1. #¥ the apocrine gland

2. % the eccrine gland

3. ¥ the sebaceous gland

4. % hair follicles

Question Number : 85 Question Id : 630680199787 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The alveoli of the sebaceous gland are lined by:
Options :

1. ¥ stratified epithelium cells

2. # columnar epithelium cells

3. # squamous epithelial cells

4. % pseudostratified epithelial cells

Question Number : 86 Question Id : 630680199788 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The structural and functional unit of a kidney is:
Options :

1. #® hilum

2. % nephron

3. ® neuron

4. # alveolus

Question Number : 87 Question Id : 630680199789 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
The appearance of haemoglobin in urine is called:
Options :
1. # haematuria
2. % haemoglobinuria
3. % uraemia

4. % bilirubinuria

Question Number : 88 Question Id : 630680199790 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The hormone responsible for increasing water reabsorption in the distal convoluted tubule and the collecting
duct is:

Options :

1. # aldosterone

2. ® parathormone

3. % antidiuretic hormone

4. % brain natriuretic factor

Question Number : 89 Question Id : 630680199791 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is present in diabetes insipidus?
Options :

1. # Osmotic diuresis

2. % Polyuria

3. ® Oliguria

4. % Uraemia

Question Number : 90 Question Id : 630680199792 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following factors is NOT responsible for renin secretion?
Options :

1. * Fall in arterial pressure

2. % Reduction in the ECF volume

3. ¥ Decreased sympathetic activity

4. # Decreased load of sodium and chloride in macula densa

Question Number : 91 Question Id : 630680199793 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The inhibin hormone is secreted by:
Options :

1. # Leydig cells

2. % Sertoli cells

3. * interstitial cells

4. % secondary spermatocytes

Question Number : 92 Question Id : 630680199794 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Low sperm count is called:

Options :

1. * hypospermia

2. % oligospermia

3. ¥ teratospermia

4. % aspermia

Question Number : 93 Question Id : 630680199795 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The acrosome of spermatozoa is formed by:
Options :

1. # ribosome

2. % Golgi complex

3. ® centriole

4. % mitochondria

Question Number : 94 Question Id : 630680199796 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The role of secretory phase in cervical changes during menstruation is to:
Options :

1. #* help in the survival of sperms

2. % hold the sperms

3. * increase the resistance for infections

4. % help in the motility of sperms
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Question Number : 95 Question Id : 630680199797 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following hormonal changes occur after ovulation?
Options :

1. ¥ FSH level decreases

2. ®# LH level increases

3. % QOestrogen level increases

4. ¥ Progesterone level increases

Question Number : 96 Question Id : 630680199810 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The main content of Eka Dhatuja Purusha is:
Options :

1. ¥ Mahabhoota

2. % Tridosha

3. ®# Tanmatra

4. % Chetna

Question Number : 97 Question Id : 630680199811 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a synonym of ‘Sharira’?
Options :

1. ¥ Samhanana

2. % Vigraha

3. ¥ Niketa

4. % Vapu

Question Number : 98 Question Id : 630680199812 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Fill in the blank.
Tatra Naam chetna adhishthanbhutam panchmahabhut vikar samudayatmakam samyogvahi.

Options :

1. # Atma
2. ¥ Sharira
3. % Purusha

4. % Garbha
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Question Number : 99 Question Id : 630680199813 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Complete the given Shloka.
Tatra Naam AdishthanbhutamPanchmahabhutVikarSamudayatamakamSamyogvabhi.

Options :

1. # Chetna, Sharira
2. % Atma, Sharira
3. ¢ Sharira, Chetna
4. % Garbha, Atma

Question Number : 100 Question Id : 630680199814 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which Mahabhuta is predominant in Vata Dosha?
Options :

1. # Akasha + Prathivi

2. % Vayu + Prathivi

3. ¥ Vayu + Akasha

4. % Agni + Akasha

Question Number : 101 Question Id : 630680199815 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is accountable for all kinds of Cheshta?
Options :

1. ¥ Vata

2. % Pitta

3. % Kapha

4. % Rakta

Question Number : 102 Question Id : 630680199816 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a type of Pitta Dosha?
Options :

1. ¥ Bhrajaka

2. ¥ Kledaka
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3. # Sadhaka
4. * Alochaka

Question Number : 103 Question Id : 630680199817 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Rajo Guna Bahula Dosha is:

Options :

1. # Pitta

2. ¥ Vata

3. % Kapha

4. % Tridosha

Question Number : 104 Question Id : 630680199818 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is Guna of Pitta Dosha (According to Acharya Vagbhata)?
Options :

1. ¥ Laghu

2. % Khara

3. % Sukshma

4. % Ruksha

Question Number : 105 Question Id : 630680199819 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following ?

Column A Column B

(a) Utsaho ucchswas Niswash | L. Pitta Dosha

(b) Darshan pakti ushma

I3

. Kapha Dosha

(c) Sneho bandh sthiratavam 3. Vata Dosha

Options :
| = (a)-l (b)-2.(c)-3

) (a)-3.,(b)- 1, (c)-2
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5 % (a2 (b)-1.(c)-3

4 % (@)-3.(b)-2,(c)-1

Question Number : 106 Question Id : 630680199820 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which Vayu is responsible for Rasa Dhatu Samvahana?
Options :

1. * Prana Vayu

2. * Samana Vayu

3. * Udana Vayu

4. ¥ Vyana Vayu

Question Number : 107 Question Id : 630680199821 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Chakshu Vaisheshika and Buddhi Vaisheshika are are types of which of the following Pitta bheda?
Options :

1. * Sadhaka Pitta

2. ¥ Alochaka Pitta

3. * Avlambaka Kapha

4. * Pachaka Pitta

Question Number : 108 Question Id : 630680199822 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The number of SharirikaPrakruti are:
Options :

1.¥ 7

2. % 8

3. % 16

4. % 18

Question Number : 109 Question Id : 630680199823 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Match the following correct pair of lakshana with Prakriti ?

Column A Column B

(a) Alpa kesha 1. Pitta Prakruti
(b) Swapneshu Jyotisham Drashta | 2. Kapha prakriti
(c) Swapneshu Jalashayaloki 3. Vata Prakruti

Options :
| % (a)-1.(b)-2,(c)-3

y ® (a)-2 .(b)-1.(c)- 3
3 % (a)-2.(b)- 3, (c)- 1

4 (@-3.(b)- 1 (c)-2

Question Number : 110 Question Id : 630680199824 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

How many types of Avastha Paka are mentioned in Ayurveda?
Options :

1. * Four

2. % Six

3. ¥ Three

4. % Seven

Question Number : 111 Question Id : 630680199825 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Pittamacchamudiryte' is seen in which Avastha Paka?
Options :

1. % KatuAvasthaPaka

2. ¥ Amla AvasthaPaka

3. % MadhuraAvasthaPaka

4. % NishthaPaka

Question Number : 112 Question Id : 630680199826 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
There are types of Bhutagani.
Options :
1. # three
2. % four
3. % six
4. ¥ five

Question Number : 113 Question Id : 630680199827 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Sarvaapcharsaha' is the Karma of which type of Agni?
Options :

1. # Mandagni

2. % Vishmagni

3. ¥ Tikshnagni

4. % Samagni

Question Number : 114 Question Id : 630680199828 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Pramana of PachakaPitta is:
Options :

1.¢ 1 Tila

1 Tila
2. w 2

3 % 2Tila

4 % 3Tila

Question Number : 115 Question Id : 630680199829 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Ythasvamsvam cha pushanti' is the Karma of which type of Agni?
Options :

1. % Jathragni
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2. % Doshagni
3. ¥ Bhutagni
4. % Dhatwagni

Question Number : 116 Question Id : 630680199830 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The fluid mosaic model is given for which cell organelle?
Options :

1. # Cell wall

2. ¥ Cell membrane

3. % Cytoplasm

4. % Protoplasm

Question Number : 117 Question Id : 630680199831 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which organelle is NOT bounded by limiting membrane?
Options :

1. ¥ Ribosome

2. % Lysosome

3. # Peroxisome

4. % Endoplasmic reticulum

Question Number : 118 Question Id : 630680199832 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Updhatu of Rakta Dhatu is:

Options :

1. # Vasa and Twacha

2. % Snayu

3. % Asthi

4. % Kandara

Question Number : 119 Question Id : 630680199833 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The Sthana of Para Oja is:
Options :
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1. ¥ Hridya
2. # SarvaSharira
3. % Kloma
4. % Twacha

Question Number : 120 Question Id : 630680199834 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
"Timirdarshanm' is the symptom of:
Options :

1. ¥ MajjaKshaya

2. % MajjaVriddhi

3. % AsthiKshaya

4. % Prakruta Karma of Pitta

Question Number : 121 Question Id : 630680199835 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

‘Akleshashishnutvam’ is the symptom of which Dhatu Sara Purusha?
Options :

1. % Rasa

2. % Asthi

3. ¥ Mamsa

4. ¥ Rakta

Question Number : 122 Question Id : 630680199836 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Snayu and Sandhi are Updhatu of:
Options :

1. # Mansa Dhatu

2. % Medo Dhatu

3. % Asthi Dhatu

4. % Majja Dhatu

Question Number : 123 Question Id : 630680199837 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Match the following correct Sthna and Pramana of Para and Apara Oja ?

Column A Column B

(a) Para oja sthana L. SarvSharira

I3

(b) Apara oja praman . Hridaya

(c) Apara oja sthana 3. 2 Anjali
2

(d) Para oja praman 4. 8 bindu

Options :
| v (@)-2.(b)-3, (c)- 1.(d)- 4

5 % (@)1 .(b)- 3, (c)- 2,(d)- 4

5 % (a)4.(b)-2,(c)- L,(d)-3

4w (a)1.(b)-4.(c)-3,(d)-2

Question Number : 124 Question Id : 630680199838 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Mala of Rasa Dhatu is:

Options :

1. ¥ Kapha

2. % Stanya

3. ® Pitta

4. % Jala

Question Number : 125 Question Id : 630680199839 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Twak Sneha is Mala of:

Options :

1. % Rasa Dhatu

2. % Medo Dhatu

3. ¥ Majja Dhatu
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4. * Mamsa Dhatu

Question Number : 126 Question Id : 630680199840 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT a Gyanendriya?
Options :

1. # Chakshu

2. ¥ Pada

3. % Karna

4. % Twak

Question Number : 127 Question Id : 630680199841 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Jyoti is Gyanendriya Dravya of:

Options :

1. ¥ Chakshu

2. % Rasana

3. % Karna

4. % Twak

Question Number : 128 Question Id : 630680199842 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

During Shristhi Utpatti Krama, Gyanendriya is derived from:
Options :

1. #* Vaikarika Ahankara, Bhutadi Ahankara

2. ¥ Vaikarika Ahankara, Tejasa Ahankara

3. % Tejasa Ahankara, Bhutadi Ahankara

4. % Vaikarika Ahankara, Bhutadi Ahankara, Tejasa Ahankara

Question Number : 129 Question Id : 630680199843 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Manso Gyanasyabhavo Bhava Eva Ch is:
Options :

1. * Guna of Mana

2. * Karma of Mana
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3. # Lakshana of Mana
4. # Dravya of Mana

Question Number : 130 Question Id : 630680199844 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The Sthana of Mana (according to Acharya Charaka) is:
Options :

1. * Nabhi

2. ¥ Hridaya

3. % Murdha

4. % Vaksha

Question Number : 131 Question Id : 630680199845 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Nimesh - Unmesha is Guna of:

Options :

1. ¥ only Atma

2. % only Prana Vayu

3. % both Atma and Prana Vayu

4. % Netra

Question Number : 132 Question Id : 630680199846 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Charaka and Sushruta, there are and types of Nidra.
Options :

1. % 6,7

2.% 7,6

3.9°6,3

4. % 7.3

Question Number : 133 Question Id : 630680199847 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What is the combining capacity of one-gram pure haemoglobin?
Options :

1. # 1.38 millilitres of oxygen
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2. % 1.39 millilitres of oxygen
3. % 1.37 millilitres of oxygen
4. % 1.36 millilitres of oxygen

Question Number : 134 Question Id : 630680199848 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Ink spot nucleus is found in which stage of erythropoiesis?
Options :

1. # Proerythroblast

2. % Early normoblast

3. # Intermediate normoblast

4. % Late normoblast

Question Number : 135 Question Id : 630680199849 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

How much part of the total antibody is constituted by IgG?
Options :

1. % 70%

2. % 72%

3.9 75%

4. % 78%

Question Number : 136 Question Id : 630680199850 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following cells are involved in cell mediated immunity?
Options :

1. ¥ Only T-cells

2. % Only B-cells

3. # Mast-cells

4. % Both T and B cells

Question Number : 137 Question Id : 630680199851 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
What is the name of the valve present between the left atrium and left ventricle?
Options :
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1. ¥ Mitral
2. % Tricuspid
3. % Semilunar
4. % Aortic

Question Number : 138 Question Id : 630680199852 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which part of an ECG corresponds to atrial depolarisation?
Options :

1. # The PR interval

2. % The T wave

3. % The U wave

4. % The P wave

Question Number : 139 Question Id : 630680199853 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which clotting factor is digested by plasmin during lysis of a clot?
Options :

1. # Stuart factor

2. # Tissue factor

3. % Labile factor

4. * Christmas factor

Question Number : 140 Question Id : 630680199854 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The hormone secreted by the posterior pituitary gland is:
Options :

1. # prolactin

2. # calcitonin

3. ¥ vasopressin

4. # cortisol

Question Number : 141 Question Id : 630680199855 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which hormone is responsible for circadian rhythm of the body?
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Options :
1. % Thyroid
2. ¥ Melatonin
3. % Parathormone
4. % Cortisol

Question Number : 142 Question Id : 630680199856 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which layer of the skin is known as the prickle cell layer?
Options :

1. % Stratum lucidum

2. # Stratum granulosum

3. # Stratum basale

4. % Stratum spinosum

Question Number : 143 Question Id : 630680199857 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The Eccrine glands are innervated by the
Options :

1. ¥ Sympathetic cholinergic fibres

2. % Parasympathetic cholinergic fibres

3. # Sympathetic adrenergic fibres

4. # Parasympathetic adrenergic fibres

Question Number : 144 Question Id : 630680199858 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The normal value of a GFR is approximately:
Options :

1. ¥ 125 ml/min

2. # 180 ml/min

3. % 180 ml/day

4. % 150 ml/day

Question Number : 145 Question Id : 630680199859 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Blood from the glomerulus is carried away by:
Options :
1. # afferent arteriole
2. ¥ efferent arteriole
3. * renal vein

4. % peritubular capillary network

Question Number : 146 Question Id : 630680199860 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The osmolality of urine is:

Options :

1. % 800 Osm/L

2. % 1200 Osm/L

3. % 1500 Osm/L

4. % 1800 Osm/L

Question Number : 147 Question Id : 630680199861 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which characteristics are found in nephrotic syndrome?
Options :

1. # Albumin increase and serum cholesterol decrease
2. # Globulin decrease and serum cholesterol decrease
3. % Albumin decrease and globulin increase

4. % Albumin increase and globulin decrease

Question Number : 148 Question Id : 630680199862 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which hormone is NOT secreted by the testis?
Options :

1. # Testosterone

2. # Dihydrotestosterone

3. ¥ Androstenedione

4. ¥ Progesterone

Question Number : 149 Question Id : 630680199863 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following is a false labour contraction during pregnancy?
Options :
1. # Early labour contractions
2. % Transition contractions
3. # Pushing contractions

4. ¥ Braxton Hicks contractions

Question Number : 150 Question Id : 630680199864 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Teratozoospermia is NOT found in which disease?
Options :

1. # Crohn’s disease

2. # Hodgkin disease

3. ¥ Congenital bleeding disorder

4. # Celiac disease
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